BAE 525 Timber Engineering
(1) A4 x 12 in (101.6 x 304.8 mm) beam on a span of 10 ft (3.0 m) carries a total uniform load of 150 Ib/lin ft (2189.1 N/m) and a moving concentrated load. If the allowable shearing stress is 130 lb/in2 (896.4 kPa), what is the allowable value of the moving load as governed by shear?
(2) An 8 x 10 in (203.2 x 254 mm) column has an unbraced length of 10 ft 6 in (3.20 m). the allowable compressive stress is 1500 lb/in2 (10,342.5 kPa), and E = 1,760,000 lb/in2 (12,135.2 MPa). Calculate the allowable load on this column (a) by applying the recommendations of the Wood Handbook; (b) by applying the provisions of the National Design Specification.
(3) A 6 x 12 in (152.4 x 304.8 mm) southern pine member carrying a tensile force of 56 kips (249.1 kN) parallel to the grain is to be spliced with steel side plates. Design the splice.
(4) A floor is supported by 3 x 8 in (76.2 x 203.2 mm) wood joists spaced 16 in (406.4 mm) on centers with an effective span of 10 ft (3.0 m). The total floor load transmitted to the joists is 107 lb/in2 (5.123 kN/m2). Compute the maximum bending stress and initial deflection, using E = 1,760,000 lb/in2 (12,135 kPa).

(5) A 3 x 10 in (76.2 x 254.0 mm) beam on a span of 12 ft (3.7 m) carries a concentrated load of 2730 Ib (12,143.0 N) located 2 ft (0.6 m) from the support. If the allowable shearing stress is 120 lb/in2 (827.4 kPa), determine whether this load is excessive. Neglect the beam weight.
(6) If the allowable bending stress in a shallow beam is 1500 lb/in2 (10,342.5 kPa), what is the allowable bending moment in a 12 x 20 in (304.8 x 508.0 mm) beam?
(7) The members in assembly  have the following sizes: A9 4 x 8 in (101.6 x 203.2 mm); B, 3 x 8 in (76.2 x 203.2 mm). They are connected by six 4-in (101.6-mm) split-ring connectors, in the manner shown. The lumber is dense structural redwood. Investigate the adequacy of this joint, and establish the spacing of the connectors.
(8) A girder having a 36-ft (11.0-m) span is to carry a uniform load of 550 Ib/lin ft (8026.6 N/m), which includes its estimated weight. Design a box-type member of glued construction, using the allowable stresses given in the table. The modulus of elasticity of both materials is 1,760,000 lb/in2 (12,135.2 MPa), and the ratio of deflection to span cannot exceed 1/360. Architectural details limit the member depth to 40 in (101.6 cm).

(9) Determine whether the joint in given assembly is satisfactory with respect to bearing if the allowable compressive stresses are 1400 and 400 lb/in2 (9653 and 2758 kPa) parallel and normal to the grain, respectively.
4 in x 4 in   and   9 in x 8 in rectangular shape timbers are joined at θ  degree.  9000 pould compression force is applied on  4 in x 4 in   .

(10)What is the The range of the slenderness ratio and the allowable stress for intermediate column,?
